/ (faz G JHATHH, i 3% *

utonomous Society Under Mir

yeftsr Fanmaea Sarsdn

stry of Power, Govt.Of India)

[Participant ID
Participant Name
Test Center Name

Test Date 31/07/2023
Test Time 12:00 PM-1:30 PM
Subject TECHNICIAN GRADE |

=4 Central Power Research Institute

Section : General Intelligence & Reasoning

Q1 =7 faweT & TS F N U HeR-AAE ¥ 3 YRR FOT §, AW TE HET-TA Tl HaT-TAE

T gEfie ¥ aik < ey dY sew-weE @ @Efa @
ZHPT : UQIA :: BNTK : LUOC :: FYCR : 2

Ans X1 DSGZ
X2 ZSDG
X3 GDZS
v 4 SDZG

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287015
6306801115971
6306801115973
6306801115974
6306801115972
Not Answered




Q2 37 gl & waa # A el gwer § geFars R (7) F ' WA

A \Y
U 3

a 2A m) g

£

A

O

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287016
6306801115976
6306801115978
6306801115975
6306801115977
Not Answered

Q.3 fRw aw fFedt § & 37 HeTTHT (alpha-numeric) T8 T 07 &, F TEATTRT 4@ F T e

(?) T STEnfg HT @ B

NTY-10, LRW-26, JPU-62, ?, FLQ-226

Ans %1 HNT-125
v 2 HNS-126
X 3 HNS-132
X 4 HOS-124

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287012
6306801115960
6306801115961
6306801115962
6306801115959
Not Answered




Q4 =7 e & TEw R, Twd & % amply afeaRa (o #r w6 B

R%

Ans
X1
f-
1

Question ID : 630680287018
Option 11D : 6306801115983
Option 2 ID : 6306801115984
Option 31D : 6306801115986
Option 4 ID : 6306801115985
Status : Not Answered
Chosen Option : --

Q.5 37 fheT & =0 &, F TEE T § I THER TG S, S GE TEAT Tge FEAT § Hafdd ¥
Ay =ieft FE Sl TEr @ @EhE

17 046 219 :62 122 : 7
Ans X 1. 58

X2 71

X3 66

v 4 61

Question ID : 630680287023
Option 11D : 6306801116003
Option 2 ID : 6306801116006
Option 31D : 6306801116005
Option 4 ID : 6306801116004
Status : Not Answered
Chosen Option : --




Q.6 g i s & femrar mm §, 90T T PQ W @ A W RT AT gotee o aor 7 AfEe wér
wiafds =T fifemw)

P

Z42Ty

" oy TTAZ
> ATS¥ X

*>S¢S LA
»oyTSAX

Question ID : 630680287017
Option 11D : 6306801115982
Option'2 ID : 6306801115981
Option 31D : 6306801115979
Option 4 1D : 6306801115980
Status : Not Answered
Chosen Option : --

Q.7 ﬁ'@mmmﬁmﬁaﬁmﬁqﬁmqﬁwmﬁg@ﬁ:Wﬁﬁaﬂ%MWRaﬁaw
AT AT Tedt ¥ B 9T 2y &, B o & R o Tewst § ¥ ST aud Seey wuet v
TR T & T F &/ I E2

EXEN

@eht gare, Rsfear §)
T g, = &

i axare, o E
e

. $o s, oF B
Il. g axar, Rsfrat §)

o1 AR 1 @ R R
x 2
F @ | TEOT YT & AR 7 & Il IFEr = g

X 3 FHae | IFTEIOT HLAT gl

X 4 a1l 3TEOT gl

Question ID : 630680287014
Option 11D : 6306801115970
Option 2 ID : 6306801115969
Option 31D : 6306801115967
Option 4 ID : 6306801115968
Status : Answered
Chosen Option: 3




Q.8 fweat # ¥ 3T IA F AG L oS SO F A H I Y §, S A fw v gew &
it = & §

¥ | e

Ans

<q
iFIE

v 3. | W
EP

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287019
6306801115989
6306801115988
6306801115990
6306801115987
Not Answered

Q.9 e Wf¥wa g o & ‘SEPOY’ @ 110" fFrar =mem & 3t 'COURT & 116" Tor@m =mam &1 390 st
# FIGHT FF Fam fomr Jreem?

Ans %1155
X2 165
« 3 170
x4 162

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

630680287013
6306801115963
6306801115965
6306801115966
6306801115964
Not Answered




Q.10 z==w fm &1 3R HEEw @ ¥ Fo Remfat $ v 9T &, e 7 feandt R & o o
35 &) FH 0 OR W 2238 T W g e A FEe & 99 Faa 12 Temnft &% §) wwe, e

& T R R T W da §) 9T F Reae e & §2

Ans o 1 43
X 2 40
X3 41
4 42
Question ID : 630680287010
Option 11D : 6306801115954
Option 2 1D : 6306801115951
Option 31D : 6306801115952
Option 4 1D : 6306801115953
Status : Not Answered
Chosen Option : --
QN 2T T & T8 59 ¥ OT 5 g et & 39 § §er Fer aie?
9+54+18x 10 - 16 = 62
Al
" K154 3T 10
7218 AT 9
X3 9 3T 16
X418 3T 16
Question ID : 630680287021
Option 11D : 6306801115998
Option 2 ID : 6306801115997
Option 31D : 6306801115995
Option 4 1D : 6306801115996
Status : Not Answered
Chosen Option : --
Q12 = fes gz s #, ofy & & o SiE g A F wd e & @ w1 owd Ae § A% o
T ¥, T T ST 1 AL A ST
BH#HA# (18 @6)&(55%41) @2& (24&12) @ 6=7
Ans 1187
X 2160
3 193
x4 180
Question ID : 630680287020
Option 11D : 6306801115993
Option 2 ID : 6306801115991
Option 3 1D : 6306801115994
Option 4 ID : 6306801115992
Status : Not Answered

Chosen Option :




Q.13 Tr=fafea Tem @ & dadt & 3R 6% a8 BT 70 5 @ 3o &

Ans

(@) 254789347683472356794583467893456789346578

6938246584732843286328098(am

Tfy sudted T & waft Faww weurst & gar fr v, & O wear fBder & 917§ waer g A

0 F EHST FEAT FT AT g g
X110
X2 8B
3 8
X412

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287011
6306801115957
6306801115955
6306801115956
6306801115958
Not Answered

Q.14 P, o R, S T3k UaW & oF wed w a0 A= & INa: 509 g & 37 #fHaw g 33 §1 P,
RESwan iRTSE d 35781 Q, T % 3% a5 3K 7510 & #a1 §1 S, Q & @15 3 gy T W
1S, Q% aE AT gEy TUF W IR, T % 918 3T g@y Tua W &1 U & &1 3w 9 S5y 799 |

Ans

Fi o1 7
X1 T
v2 P
X3S
X4 R

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287009
6306801115950
6306801115947
6306801115949
6306801115948
Not Answered




Q.15 fu 7w Rwedt & & 3@ FE0 & TGS FY, S FEARET @ # 9o Rea (?) @ sawig &=
T &

55, 57, 66, 94, 159, 285,7

Ans X 1. 432
v 2 502
X3 466
X4 490

Question ID : 630680287022
Option 11D : 6306801115999
Option 2 1D : 6306801116002
Option 31D : 6306801116000
Option 4 1D : 6306801116001
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q.1 fem w@=rera (MoE) it 36 uge 1 T A &, fAHat S§2a 321 Wk | o=, fohant sz garsii &
|IY I THE I@HTRATSH] it AAETATSI GgRIAT UaT &1 82

Ans o 1. FERET0
X 2. mrenifa
X 3. FE
X 4 wdERa

Question ID : 630680287025
Option 11D : 6306801116014
Option 2 ID : 6306801116012
Option 31D : 6306801116013
Option 4 1D : 6306801116011
Status : Answered
Chosen Option : 3

Q.2 fafker R iR R werhifaes sfEaal & i wuwm Mems T Ao & R gages frsa
3R fafeer raTew &5 &1 AT 3R WIR &1 THTE i UT?

Ans X 1.T=sds Vil
X 2.5t VI
< 3. fafemm v
o 4.SISTV

Question ID : 630680287029

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306801116028
6306801116029
6306801116027
6306801116030
Answered

3




Q.3 sl ffafaa J | fore wsa/dhg anffa e d fRa 82
Ans X 1.7E™E

X 2. fEurae v

75 3. 9] 3R R

o 4. IO UG

Question ID : 630680287030
Option 11D : 6306801116032
Option 2 ID : 6306801116034
Option 31D : 6306801116031
Option 4 ID : 6306801116033
Status : Answered
Chosen Option: 1

Q.4 fr=fafEa d @ @ ot s s A f sredt s & anfae a8t 82
Ans o 1 TRaTE!

X 2%

K 3.1
X 4. R

Question ID : 630680287038
Option 11D : 6306801116064
Option 2 ID : 6306801116066
Option 31D : 6306801116065
Option 4 1D : 6306801116063
Status : Answered
Chosen Option : 4

Q.5 2011 &t SRTUMT & SIFHR, 2001-2011 & &7 F WRA . sTwEar Y gig & fra A2
Ans X 1.16.63%

< 2.18.85%
o 3.17.64%
< 4.19.92%

Question ID : 630680287037
Option 11D : 6306801116059
Option 21D : 6306801116061
Option 31D : 6306801116060
Option 4 1D : 6306801116062
Status : Answered
Chosen Option : 1




Q.6 hH forare utg, o afaor gfan &t weawt wet urepferes ot AT ST &, 98 WRa & Refaf@a

A frgasud R@ag?
Ans X 1. f3umee uer
X 2.
o 3. Jue
X 4. By
Question ID : 630680287035
Option 1 ID : 6306801116051
Option 2 ID : 6306801116054
Option 31D : 6306801116053
Option 4 ID : 6306801116052
Status : Answered
Chosen Option: 2
Q.7 flgelt STEwe @1 erfderizr Wit (S Singhalese ar Cingalese i forar siman 8) R=faf@a &
@ frg uiht 321 & uran Srar 82
Ans X 1.®HR
X 2. 3ure
75 3. FEATRST
o 4. SAcienr
Question ID : 630680287036
Option 11D : 6306801116057
Option 2 ID : 6306801116056
Option 31D : 6306801116055
Option 4 ID : 6306801116058
Status : Answered
Chosen Option : 4
Q.8 et wifewdl wrafea (NSO) & sferiRes stichel & guR, 2023 Y STHaR-ATd faard &7
Sf. 8. (GDP) g R frarst ofi?
Ans X 1.51%
X 2.71%
o 3.6.1%
X 4.41%
Question ID : 630680287027
Option 11D : 6306801116020
Option 2 ID : 6306801116022
Option 3 ID : 6306801116021
Option 4 ID : 6306801116019
Status : Answered
Chosen Option: 2




Q.9 2022 giEUFH! e & YETAR FAhich o SITAR WRd, YETAR & ATAA | fohe I 1R 8?

Ans X 1.909i ®IH
o 2. 8501 ®IH
/5 3. 80ai &=
X 4. 75a ==
Question ID : 630680287024
Option 11D : 6306801116007
Option 2 ID : 6306801116008
Option 31D : 6306801116009
Option 4 ID : 6306801116010
Status : Answered
Chosen Option : 4
Q.10 quf Ffifa Reee-tiard qarmierd R aroat ofi danfira wiall @ gl Tormm?
Ans X 1.9R
X 2.9
o 3.%¢%
X 4.utg
Question ID : 630680287032
Option 1 ID : 6306801116039
Option 2 ID : 6306801116042
Option 3 ID : 6306801116041
Option 4 ID : 6306801116040
Status : Answered
Chosen Option: 2
Q.11 €. 1. Q. 3MR. - el Tl Afcehl SIRie €U o1 Jrmerd fAefafad J 4 fra a=a &
Raa?
Ans X 1. 3T
X 2. sy uesr
25 3. JetET
o 4.
Question ID : 630680287033
Option 11D : 6306801116044
Option 2 ID : 6306801116046
Option 31D : 6306801116045
Option 4 ID : 6306801116043
Status : Answered
Chosen Option : 2




Q.12 af 2022 # F=rfaf@da & @ @9 WA &1 Ga@ a1 HIth ITER IST UT?

Ans

75 1. sifgem
X 2. T
o 3. Ffch
X 4. e

Question ID : 630680287031
Option 1 ID : 6306801116035
Option 2 ID : 6306801116038
Option 31D : 6306801116036
Option 4 ID : 6306801116037
Status : Answered
Chosen Option : 1
Q.13 S 2023 deh & TR, Ardsi=e &4 & =@ d 9 fra 9 d sdariat f e g
31fder 87
Ans X 1. 3Tk SEier
& 2. fsm dw
o 3.2 & aif 2R
X A USTE A3Fd S
Question ID : 630680287026
Option 11D : 6306801116016
Option 2 ID : 6306801116018
Option 31D : 6306801116015
Option 4 ID : 6306801116017
Status : Answered
Chosen Option : 3
Q.14 &g WRFR & 31Tfdeh FA&T01 2022-23 & FHR, FY22 #, Thed AR fhe=T A1?
Ans X 1.36.5%E =
2 2.65.5 s I
o 3.26.5 s I
X 4.16.5 s I
Question ID : 630680287028
Option 11D : 6306801116024
Option 2 ID : 6306801116023
Option 31D : 6306801116026
Option 4 ID : 6306801116025
Status : Answered

Chosen Option :

1




Q.15 f=faf@a 7 @ fFa ‘argeren & it & o & s1r9m w11 8, /gAY viRa & e @vra areft

gHRE] hY sraeRom & off?
Ans X 1.3fs Rdies
o 2. AR de
27X 3. Asiferat wremT
X 4 GEIA
Question ID : 630680287034
Option 11D : 6306801116048
Option 2 ID : 6306801116050
Option 31D : 6306801116049
Option 4 ID : 6306801116047
Status : Answered
Chosen Option : 3
Section : Quantitative Aptitude
Q1 o= fue & & =i & AT 5 cm, 12 cm 3, 13 cm ¥ TR ¥ 890 & 09 UF d9G S
s 10 cm g 34 & 9RAT (cm #) e &7
Ans X q 25
W 2. 26
X3 28
X 4. 27
Question ID : 630680287050
Option 11D : 6306801116111
Option 2 ID : 6306801116112
Option 31D : 6306801116114
Option 4 ID : 6306801116113
Status : Not Answered
Chosen Option : --
Q2 Ffx 33040 + 258.125 = 128 ¥, & 330.40 + 2581.25 & A AT HeT|
Ans  x1.1.28
« 2. 0.128
X3 128
X4 0.0128
Question ID : 630680287053
Option 11D : 6306801116124
Option 2 ID : 6306801116123
Option 31D : 6306801116125
Option 4 ID : 6306801116126
Status : Not Answered

Chosen Option :




Q3 v w=H A v e % W & fF F 60° F seAaw HUT W AW, FEH 9E0r fig @ F AT &

Ans

13 m 2T ¥ @& Fr Fae (m #H) Braer geie

X116
X2 1442

3 1343
X415

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

630680287052
1 6306801116122

: 6306801116120
: 6306801116121
: 6306801116119

Status :
Chosen Option :

Not Answered

Q4 P, Q R = #Hwag 9w 52 kg &1 TfE P 3k @ =7 sitmT oW 42 kg &, 3k Q 3t R 7 sitwa g 44

kg &, @7 Q FT g (kg ) TFgaT e

Ans X 1. 14
2 16
X315
X413
Question ID : 630680287040
Option 11D : 6306801116072
Option 2 ID : 6306801116074
Option 31D : 6306801116073
Option 41D : 6306801116071
Status : Not Answered
Chosen Option : --
Q.5 350 ml fsror & Sgrer T FNT F 3o 5 ¢ 3 Bl g H BT F 6 1 7 T aen, g
T HOTaa w7 @ BT gog e & O, gwe 3T fhaer SORe (ml &) Berar geme (Teeas
Tuiter Fe JoTTeReT)
Ans X 1,300
v 2 301
X3 303
x4 302
Question ID : 630680287045
Option 11D : 6306801116091
Option 2 ID : 6306801116092
Option 31D : 6306801116094
Option 4 ID : 6306801116093
Status : Not Answered

Chosen Option :




Q.6 ow gRomwAT 100 m F gt & TF AN F IWT IR A AT § H GRwEAT SHHE IO FIA g

=T #x gfemest FAw 8 kmih 3T 9 kmih # @fy & disa &1 5 e ag (km ) 3 = S ghr
Fraeir gefr?
Ans 1
K1 —
45
2
X2 —
35
3
X3 —
35
1
o4 —
&0
Question ID : 630680287047
Option 11D : 6306801116100
Option 21D : 6306801116101
Option 31D : 6306801116102
Option4 ID : 6306801116099
Status : Not Answered
Chosen Option : --
Q.7 A ww F Fr 8 AT & Fwar & 3t B 35 #1712 R F Far B ¥ ee 38 e a e
= & g w7
Ans 2
X1 3=
3
X2 5
4
w3 4=
g
X4 B
Question ID : 630680287046
Option 11D : 6306801116095
Option 2 1D : 6306801116097
Option 31D : 6306801116096
Option 4 1D : 6306801116098
Status : Not Answered

Chosen Option :




Q.8 uw w F aH WTAHR ¥, orad Fard Iudr S F 20% 3w ¥ ofy wgasn @i f warg

S Steré & @ T ST 10 om &, A 36 A 3T Swew (om? #) Frr @2
Ans X 1. 3560

<2 3565

v 33000

< 4. 3655

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287051
6306801116117
6306801116118
6306801116115
6306801116116
Not Answered

Q.9 qﬁ;x:6+xl§,3ﬂ1y=6—d§’;ﬂx2+y2ﬂmﬁﬁmw

ans X 1. 79
V2 78
X3 77
X 478

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287039
6306801116070
6306801116069
6306801116068
6306801116067
Not Answered

Q.10 w= =Er FEgY 3 AT AT W 10% T g W 45 T T T ff| weaE a5 g F 3T qew (2

) FreeT 2T R
Ans 1. 25
X2 22
X3 28
X4 24

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287042
6306801116081
6306801116079
6306801116082
6306801116080
Not Answered




U 3fE 4x2 - 12xy + 5y2 = 0, & x : y fagar gem?
Ans w1 1:23r5:2

X21:437m4:1

X33:13ar1:3

XKa2:13ar1:2

Question ID : 630680287044
Option 11D : 6306801116089
Option 2 1D : 6306801116090
Option 31D : 6306801116088
Option 4 1D : 6306801116087
Status : Not Answered
Chosen Option : --

Q.12 A & % e WY F W HeET-aeeT R 9 et @ a= T awget S Fw g §
arferrr &1 srewae &1 3t Pafafa e &= 3w &)

m  |=Ea

A B c D E
d@E 400 (420 220 |- 260
T340 |- 500 |190 | 390
T 260 |220 [390 |405 |-
s 520|490 |- 610 | 140
W |- 440 330 490 |330

afy A Zamr =N a1 FEgat i T HEA 1700 ¥, A A TN VAR AT AR A
FEgat & @ feee S B2
Ans X1 240
<2 230
x 3. 280
v 4 220

Question ID : 630680287048
Option 11D : 6306801116105
Option 2 1D : 6306801116104
Option 31D : 6306801116106
Option 4 1D : 6306801116103
Status : Not Answered
Chosen Option : --




Q.13 x

+y+
afr X 2L g T2 Grger geme
4 5 3 z
Ans X115

Chosen Option :

X2 6
3 4
X 47
Question ID : 630680287043
Option 11D : 6306801116084
Option 2 1D : 6306801116085
Option 31D : 6306801116083
Option 4 1D : 6306801116086
Status : Not Answered
Chosen Option : --
Q.14 ofiar 7 3977 8% F & T | 3EF A FU I 394 H foraer sfawg s T R 3W 36F 79
3T & TS A T TH? (T SUAGT I Ol
Ans w1 8.7%
<2 88%
<3 85%
x4 84%
Question ID : 630680287041
Option 11D : 6306801116077
Option 2 ID : 6306801116078
Option 31D : 6306801116076
Option 4 ID : 6306801116075
Status : Not Answered
Chosen Option : --
Q15 25 cm =&, 15 cm =g 3R 6 cm &9 T, S T F TET STFA (cm? F) Fraem gem?
Ans X 1.1220
v 21230
x 31225
x 41235
Question ID : 630680287049
Option 11D : 6306801116107
Option 2 ID : 6306801116109
Option 31D : 6306801116108
Option 4 ID : 6306801116110
Status : Not Answered

Section : English Language & Comprehension




Q.1 Select the most appropriate synonym of the given word.

lllustrious
Ans X 1.Mundane

" 2. Renowned
/< 3. Notorious
< 4. Inferior

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 41D :

630680287063

6306801116163
6306801116166
6306801116164
6306801116165

Status : Not Answered

Chosen Option :

Q.2 Select the most appropriate meaning of the given idiom.

Play into the hands of
Ans X 1.To earn a lot of money

/5 2. To be deceived by someone
&" 3. To be controlled by someone

X 4.To give a performance

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287061
6306801116155
6306801116156
6306801116157
6306801116158
Not Answered

Q.3 Select the most appropriate ANTONYM of the given word.

Persuade
Ans X 1.Assure

¥ 2. Prevent
X 3. Convert
X 4. Satisfy

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287062
6306801116160
6306801116159
6306801116162
6306801116161
Not Answered




Q.4 Parts of the following sentence have been given as options. Select the option that contains

an error.

Many of us believe that small actions and choices does not have much impact on our lives.

Ans X 1.impacton our lives
#5 2. that small actions and choices
o 3. does not have much

75 4. Many of us believe

Question ID : 630680287056
Option 11D : 6306801116138
Option 21D : 6306801116136
Option 31D : 6306801116137
Option 4 ID : 6306801116135
Status : Not Answered
Chosen Option : --
Q.5 Select the most appropriate option to fill in the blank.
This car belongs to our family. It is
Ans  # 1.ours
X 2. ours’
X 3.our's
X 4. our
Question ID : 630680287064
Option 11D : 6306801116169
Option 2 ID : 6306801116170
Option 31D : 6306801116168
Option 4 ID : 6306801116167
Status : Not Answered

Chosen Option :

Q.6 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the

correct order to form a meaningful and coherent paragraph.

A. The first green corridor in India was created by Chennai Traffic Police in September

2008.

B. That organ saved a nine-year-old girl whose life depended on the transplant.

C. They accomplished their task'of enabling an ambulance to reach its destination within 11

minutes during peak hour traffic.

D. The traditional method of transporting organs by road is referred to as a ‘green corridor’.

Ans X 1.ACDB
« 2. DACB
< 3.DBAC
7 4. ABDC

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287054
6306801116129
6306801116128
6306801116130
6306801116127
Not Answered




Q.7 Select the most appropriate option to fill in the blank.

Do you know a short cut the airport?

Ans X 1.of
o 2. 10
X 3.at
X 4.in
Question ID : 630680287059
Option 11D : 6306801116149
Option 2 1D : 6306801116150
Option 3 1D : 6306801116147
Option 4 1D : 6306801116148
Status : Not Answered
Chosen Option : --
Q.8 Select the most appropriate option to fill in the blank.
Some plants are to touch.
Ans X 1.senseless
¥ 2. sensitive
X 3.senile
X 4. sensible
Question ID : 630680287058
Option 11D : 6306801116146
Option 2 ID : 6306801116144
Option 31D : 6306801116145
Option 4 1D : 6306801116143
Status : Not Answered
Chosen Option : --
Q.9 Select the most appropriate meaning of the given idiom.
Over and above
Ans  # 1.In addition to
/5 2. For a while
/X 3.Inashort time
X 4. Torise high
Question ID : 630680287060
Option 11D : 6306801116152
Option 2 ID : 6306801116151
Option 31D : 6306801116153
Option 4 ID : 6306801116154
Status : Not Answered

Chosen Option :




Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. His mother named him Mkali, which means fierce.

B. Nothing in the jungle ever excited him.

C. Once upon a time, there lived a tiger.

D. But that was a misnomer because Mkali was a lazy little cat.

Ans X 1.CBDA
X 2.CDAB
« 3.CADB
7 4. CABD

Question ID
Option 1 ID

: 630680287055
: 6306801116132
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6306801116134
6306801116133
6306801116131
Not Answered

Q.11 Parts of the following sentence have been given as options. Select the option that contains
an error.

A feast had being laid out for the royal guests who were expected to arrive soon.
Ans X 1.to arrive soon
¥ 2. A feast had being laid out
#< 3. for the royal guests

/5 4. who were expected

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

Status

: 630680287057
Option 11D :

6306801116142

: 6306801116139
: 6306801116140
: 6306801116141
: Not Answered

Chosen Option :




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—large molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 12

Q.12 What is the passage mainly about?

Ans

< 1. Uses of plastic
o 2. Plastic pollution
< 3. Beach clean-up
5 4. Trash disposal

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

630680287068

6306801116179
6306801116180
6306801116182
6306801116181

: Not Answered
Chosen Option :




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—Ilarge molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 13

Q.13 Which of these is NOT true?

Ans

«” 1. Ocean plastic outweighs fish in the sea.
/< 2. Soda can rings resemble jelly fish.
Z< 3. Plastics last for a very long time.

< 4. By 2025, 16 million tons of plastic trash will end up into the ocean every year.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287069
6306801116184
6306801116183
6306801116186
6306801116185
Not Answered




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—Ilarge molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 14

Q.14 What is common between different types of plastics?

Ans

#< 1. They can be used for making bottles.
o« 2. They have the same chemical structure.
Z5 3. They are all dumped into the sea.

< 4. They are consumed by sea creatures.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287067
6306801116175
6306801116177
6306801116176
6306801116178
Not Answered




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—Ilarge molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 15

Q.15 What percentage of plastic in the oceans is contributed by marine industries?

Ans X 1.80%
X 2.25%
o 3.20%
X 4.50%
Question ID : 630680287066
Option 11D : 6306801116174
Option 2 ID : 6306801116172
Option 31D : 6306801116171
Option 4 ID : 6306801116173
Status : Not Answered
Chosen Option : --
V1 Rega EElEs A0 F FE0T A F ST FT F F THEUR 82
Ans
X 1. qiyEe @ quT & & o
v 2. ega-xuueT & BT & Iha & o
3 =
X 3. gfeRrer ga & o
X4 grae # Faa w1 F oo
Question ID : 630680287097
Option 11D : 6306801116297
Option 2 ID : 6306801116296
Option 3 ID : 6306801116295
Option 4 ID : 6306801116298
Status : Answered
Chosen Option : 4




O3 et Y Sige Hr ufFAT A T Sar B
A" X 1. FATFET (connecting)

X2 F;l\ﬁ?T (looping)

X 3. FFATET (insulating)

v 4 AT (jumpering)

Question ID : 630680287093
Option 11D : 6306801116279
Option 2 ID : 6306801116282
Option 31D : 6306801116280
Option 4 1D : 6306801116281
Status : Answered
Chosen Option : 4

®? faega-ava & Wy # Al # @ #la-a Fua e 22
Ans X 1.
AT FT T AT TEG FT e HUESA T H HUS TAAT AT B
o 2.
AT H T A g F 3T g 3T FA A TAE F FOH AT ST g
X 3.
faega-oe &1 39T fFEr aFg ¥ TR &I 30T T &g AT T HehdT gl
X 4

HATRUT 1 et & fo0 Taega-orar &1 39T forar = gl

Question ID : 630680287098
Option 11D : 6306801116301
Option 2 ID : 6306801116302
Option 31D : 6306801116300
Option 4 1D : 6306801116299
Status : Answered
Chosen Option : 4




W frrfafam 3 @ FA-E Ry, daw I T aew w2

Ans

v O
X 2. TqTeleh

LV
X 3. FI&TIcHS STehc

2(4.%{%?’@?—!’(?@?’?1?]

Question ID :
Option 11D :
Option2 1D :
Option31D:
Option 41D :
Status :
Chosen Option :

630680287092
6306801116278
6306801116275
6306801116277
6306801116276
Answered

1

* Ryege e & wETEA fRE YRR T A 27
X1.Fc’|?{ﬂ?—[ﬁ?ﬂ'il~ﬁ'ﬂm

X 2 guiell 7 deedr TR & Fa

x 5. fagga IRWoT gafar # U FF

v faega woa & TR FFA

Ans

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287079
6306801116223
6306801116226
6306801116225
6306801116224
Answered

4

 PrafafT F ¥ Fla-w Reed, te TER H aRTT 7@ 32

Ans

v . zrafag
X2 FHEEAR
X3 8T
x4 Hed

Question ID :
Option 11D :
Option2 1D :
Option31D:
Option 41D :
Status :

Chosen Option :

630680287104
6306801116326
6306801116325
6306801116324
6306801116323
Answered

4




Q7 Rmafafas & § #a-wr Reew, iegs & BT sg#a 791 & A-andafs @9 & seeor 32

Ans

X 1. gTptaes 3
v 7 ST
X 3 Eare
X 4 ggrer

Question ID : 630680287107
Option 11D : 6306801116338
Option 21D : 6306801116336
Option 31D : 6306801116335
Option 41D : 6306801116337
Status : Answered
Chosen Option : 3
Q.8 zafFefdr (electricity) areg #1 3eufen ¥ day F farafaila F O Sla-m/d wu= oeg 78 &2
i. fFefAdr (electricity) reg Fr 3cufea dfed g & g‘é‘ gl
ii. THTFEIRET (electricity) ST @I F1 A AT FpfeT (Benjamin Franklin & ST 21
iii. 3% FF F Rega = # N=fda Brar =mar &
Ans - .
X Fae i
2 e |
X3 i 3 il gt
X4 AR i grar
Question ID : 630680287070
Option 11D : 6306801116189
Option 21D : 6306801116187
Option 31D : 6306801116188
Option 41D : 6306801116190
Status : Answered
Chosen Option: 2
Q9 foredr ofyy F wiodty feem Twet 3 dieear @ fFe o W), g W @ geE @em?
Ans .
X1 Tg 8 El'l?ﬁ'a Zr ST
X 2 g 3melr g FTvet)
v Ig S & e
X 4 Jg AT T
Question ID : 630680287083
Option 11D : 6306801116241
Option 21D : 6306801116239
Option 31D : 6306801116240
Option 41D : 6306801116242
Status : Answered
Chosen Option : 4




Q10 ST sual § & T8 FUF/FAT & 997 i)

i. ¥2 = Fega geh Wor F Faw, Rega ST F e qw feE g
i. fega 7= 3eea A, Rega o F AN IS H FART HET MAT §

X, i 3R

X 2 ji 3T i ST
v 3 i 3 iii gEr
X4 s i gt

iii. T T F Fegd F 7 TG F & e Regd ST #1 swae Ty aar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287071
6306801116194
6306801116191
6306801116192
6306801116193
Answered

3

! Ryega wonferat #F s @1 gET 32w, grar 2

Ans

v Taega aY ¥ F=rar AR graT glafRag s
X 2. SO % oIfed T[0TH H FUR FIA

x5 fagga el B HETEtE B dar

X o 2T F IEH ST F HIh FaIA BT

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

: 630680287081

1 6306801116231
: 6306801116233
: 6306801116234
: 6306801116232
. Answered

1




V2 oafRT F ¥ T8 I T 98 T

Ans X 1.
fPeTe Regd Fa JUTRN & AN F eI AT agd HOw A g
x 2
sfFeTa faega Faa Jume # =T AfEa U G g g

X 3.
qfFeTa g Fae JUTeN ¥ AHS F, AR $ oEE F TS FAT AW FE L

o 4.
Pt faega Fae Jumel & g 399 T FRE A g g

Question ID : 630680287095
Option 11D : 6306801116288
Option 2 ID : 6306801116289
Option 31D : 6306801116290
Option4 ID : 6306801116287
Status : Answered
Chosen Option : 4

O3 ooy (LT) Remor &, &R & Fad & 3990 a7 F4T 2
ans X1 PILCA

X2 XLPE

X 3 XHV

v 4 PVC

Question ID : 630680287094
Option 11D : 6306801116283
Option 2 ID : 6306801116285
Option 31D : 6306801116286
Option 4 1D : 6306801116284
Status : Answered
Chosen Option : 2




Y et gt @ e Sifsw

Ans

el el
i. fege veafe® w0 | a. Sfen# suw
ii. @Y F=T b. TEEfE AfAfFaT

i, Rega &=

iv. fagge Jadr awor

d. SeRrEeery T

X1 B
X2D
v A
X4 C

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287072
6306801116196
6306801116198
6306801116195
6306801116197
Answered

4




15 P (Megger) T 39TTeT F A9 & T fFar Jmar 2

k0. Taega Iy F o R & 99 s
v AR # aRor 3R sg-gfoRrey
X 5. fordY QT =17 aftayr & faega ufed
X4 et afitay & orr varg

Question ID : 630680287085
Option 11D : 6306801116248
Option 21D : 6306801116249
Option 31D : 6306801116250
Option 41D : 6306801116247
Status : Answered
Chosen Option : 4
Q16 mRfla & ¥ Fia-ar T9ed, A3d safacHe #i5 (NEC) Yol &<l &7
Ans X 1.
SEITIT T Fafagad US Feagi=ad s=i=ay (IEEE)
v 2. FRAd BRI 9ieaed TafaeR (NFPA)
X 3. T FE 9fwg (ICC)
X 4. AAT ATATE =G (BIS)
Question ID : 630680287082
Option 11D : 6306801116238
Option 21D : 6306801116237
Option 31D : 6306801116236
Option 41D : 6306801116235
Status : Answered
Chosen Option : 4
.17 = : -
Q Fad SEHTFEES Taa HFaemHH I, ¥ forT gamar 2
Ans
1.
v . foegd amr
X2 FOg H 9T HET
X3 Hg H oA HET
X 4 SRS T AT
Question ID : 630680287088
Option 11D : 6306801116259
Option 2 ID : 6306801116262
Option 31D : 6306801116260
Option 4 ID : 6306801116261
Status : Answered
Chosen Option : 2




An X 1. after (Circuit)
v 2 f&a= (Switch)
X 3. gdeyg (UPS)

X 4 o= (Holder)

Q.18 Fz-3i% o1 Ffea 3w F gifoeet & 390 e W I¢ H&T &9 § F 9 H FE w2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680287108

6306801116341
6306801116339
6306801116342
6306801116340

Status

: Answered

Chosen Option: 1

U Freear ereg F 3T,
M x faege s
X 2. faegara gferry
X 3. faega afed
v foega s T

T A & fore foar Jmar g

Question ID
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID

Status:

: 630680287075
: 6306801116207

6306801116209

: 6306801116208
: 6306801116210

Answered

Chosen Option : 1

Q20 2 ermreas el # WER fwe @ I W), ¥ THEEE F
Ans x1-§|’§=|T'I-':='IF|'?-I'§i'

X 2 ger Siasa O g

x3~3-TIEFﬁT-|'

v e

FEET

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680287073
6306801116201
6306801116202
6306801116200
6306801116199
Not Answered




#rer
X I T & SRy & STEATEeT
X2 U

X3 Ucles oTET H UT & AT
o 4 FHRTA

Q21 faErs & doear & B % AR, T @A 9Ty #, TR B gwde o # e,

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

630680287078
6306801116219
6306801116221
6306801116220
6306801116222
. Answered

01

% =5 ¥ 9RaR® W19 3H a €,
K. e e

X 2. AT-HEEUTHTY

3 graiter

X 4 AR

@ El

Question ID
Option 11D
Option 2 1D
Option 31D
Option 4 1D
Status:

Chosen Option :

1 630680287106

1 6306801116334
1 6306801116332
1 6306801116333
1 6306801116331

Answered
4

A X1 SR ¥ URT STEET & waiEa B B
X2 Hg THE AGT BT 2
v 5 S 9T U HIET &F F9aT &)

X 4 ST W o AR B O gafaa @ 2

2 % AEY deedr TgFT F HC TS W p-n TS T FA T §2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287109
6306801116343
6306801116345
6306801116346
6306801116344
Answered

1




Q24 freEx Hige (Fixture joint) &1 393 FT&T & ¥ fore fFor Fmar B

Ans X1F|1Tﬁxﬂ3?r
v 2. TG FIEA H T 5 § FAsA
X 3. ShEeT FT oS ST

X 4 FIT F FEA

Question ID : 630680287091
Option 11D : 6306801116274
Option 2 ID : 6306801116272
Option 31D : 6306801116273
Option 4 ID : 6306801116271
Status : Answered
Chosen Option : 2
.25 :
A% YT T YETE FE W AR F IR qEA &7 F A, |
Ans
X 1. QT g SATEE
X2 g
X 3. A g
4 FEa
Question ID : 630680287101
Option 11D : 6306801116313
Option 2 ID : 6306801116312
Option 31D : 6306801116314
Option 4 ID : 6306801116311
Status : Answered
Chosen Option : 4
.26 RS : .
Q2% g ¥ BoE F gy § HEOAT § ¥ FE-97 OeF T8 82
ans X1.] = ER
X2R=1/E
v3E=1IR
x4 R = El
Question ID : 630680287074
Option 11D : 6306801116203
Option 2 ID : 6306801116206
Option 31D : 6306801116204
Option 4 ID : 6306801116205
Status : Answered
Chosen Option : 2




Q.27 ww*%mmwﬁaﬂmmm#
s X cafEes

v 2 grar

X3 g

X 4 USTHATH

=
Question ID : 630680287080
Option 11D : 6306801116227
Option 21D : 6306801116230
Option 31D : 6306801116229
Option 41D : 6306801116228
Status : Answered
Chosen Option : 2
02 e & OE F AR, AT o, T F TET BT 2

A X1 apaeiaor
X2 IS

mm’gﬁﬁr

Question ID : 630680287105
Option 11D : 6306801116330
Option 2 ID : 6306801116328
Option 3 ID : 6306801116327
Option 4 ID : 6306801116329
Status : Answered
Chosen Option : 2




% LED ¥ ey & ReaeRe F ¥ fi9-gr sua g

Ans X 1.
LED #r 931 &1 Light Emitting Diodes (smse wfaféer smza) 21

o 2.
LED Sfdifta ggm & goar # 3o Rl #F @9d & &

X 3 LED %% T H 39ered |
X 4.
ST Zga & e & LED & Sawiera A g gl

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

630680287099
6306801116306
6306801116304
6306801116303
6306801116305
Answered

3

Q.30 FurRs # DC TRy F dvear @ ¥ AT F g @ e IR T W MRww Fumw, 0
Ans x_lma_

X2 TBr e g

Ko agd ¥

v oFT g S

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287103
6306801116320
6306801116322
6306801116319
6306801116321
Answered

3




G AT F ¥ Fia-ar Reew e $r fBevar 8 32

Ans X 1.

3T & A 3o FAT § ST AR ES § &7 &

o 2.

g 3T W 5 9= ¥ T Jo F9 3=eT 799 ¢

X 3. 31T FHAT off T TWehaT B
X 4 T INTUA, HET T F T FHT FROT ¢

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Choesen Option :

630680287087
6306801116256
6306801116257
6306801116255
6306801116258
Answered

4

032 faega wfeRty & wau & eafef@a & ¥ Fia-w@ = weg e

i. & 3F (ohms) & &AT =TT B
i. 7% Taega U & waTg % Wt R aFg & Wiy HAT g

iii. 7E TrEr TRy Fr egd e FF FaRT F B AAGT F AT 2

X @R i @t
X2 3T iii gt
X3, i 3 i
v i A i gat

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option

630680287076
6306801116212
6306801116213
6306801116211
6306801116214
Answered

03




OB CrafafE F ¥ Fi9-a e =t Regad F 77 F 19 A 87

Ans

et

X1 arar
X 2. olrgT
X3 rér

v 4 HHh

Question ID : 630680287077
Option 11D : 6306801116215
Option 2 1D : 6306801116218
Option 31D : 6306801116217
Option 4 1D : 6306801116216
Status : Answered
Chosen Option: 3

Q34 Trafaf@d & ¥ g 3T & 3989 T # FEes T a4 & e R e $2

Ans

X 1. weray (Pliers)
x 2. ¥ (Wrench)
v 2 UgHd (Screwdriver)
X 4. TTEX (Tester)

Question ID : 630680287084
Option 11D : 6306801116245
Option 2 ID : 6306801116243
Option 31D : 6306801116246
Option 4 ID : 6306801116244
Status : Answered
Chosen Option: 3




Q35 faega ar o TR, AT § ¥ W 39T 1 3T B seer?

i. &ef 57 (Cable drums)
ii. FEEIHET (Multimeter)
iii. TITer AT (Angle rollers)

iv. R (Wrench)

Ans - . .. :
X1 i 3 ii gar
X2 i 3T iv gt
3 i 3R i =t
X4 3T i gt
Question ID : 630680287086
Option1 ID : 6306801116251
Option 21D : 6306801116254
Option 31D : 6306801116252
Option 4 ID : 6306801116253
Status : Answered
Chosen Option : 3
Q.36 fege umr sarfem wwr frer o werd T uTg Fr o I R A whEar ar T I 2
Ans

X 1. faega-ariashr
v 2 Taega-ema
X 5. faegd-araea

Question ID : 630680287096
Option 11D : 6306801116294
Option 2 ID : 6306801116293
Option 31D : 6306801116291
Option 4 ID : 6306801116292
Status : Answered
Chosen Option : 2




Question ID : 630680287100
Option 11D : 6306801116307
Option 2 1D : 6306801116309
Option 31D : 6306801116310
Option 4 1D : 6306801116308
Status : Answered
Chosen Option : 3

Q.38 == vw fiEd gedw &7, Twery e § Regd o @ Sha s &, A sw Rmemar
FE S §l

R T T
% 2. Frega-gedra fafeor
s Prager e wag
x 4. Prega-dedT wiodr

Question ID : 630680287102
Option 11D : 6306801116318
Option 2 1D : 6306801116315
Option 31D : 6306801116317
Option 4 1D : 6306801116316
Status : Answered
Chosen Option : 1




Q.39 Rgga sTwwi At T | demETE (BIS) R, THT & FAS & oo F SR Har

2l

X, RT3
X 2. egmET-fafirse ge=
v 5. TS I[OTEcl Al
X 4 FISET FI&T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287090
6306801116268
6306801116269
6306801116270
6306801116267
Answered

3

Q40 gra #, fege oo AR T e F BT FiF-ar fva (BIS) A AL 82

Ans X118 694
x2S 618
¥ 3 IS 1293
X4 1S 302-1-4

Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287089
6306801116264
6306801116265
6306801116263
6306801116266
Not Answered




